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QUESTION 1

Relying only on the information provided in the scenario, select the TWO items and/or features for which sufficient

information is available to proceed with test design. 2 credits
A. All supported credit cards

B. Language localization

C. Valid and invalid advances

D. Usability

E. Response time

Correct Answer: AC

QUESTION 2

Identify THREE items that would be part of the work-breakdown structure showing the key testing activities for the

acceptance test project. 2 credits (for 2 out of 3 correct 1 credit)

A. Test planning, test case preparation and test execution for each of the four iterations

B. Work should be explicitly allocated to test completion, test management, installation and to training on using the

system

C. Activities to deploy the system in the user environment

D. Regression testing in the second, third and fourth iterations
E. Development activities for unit and integration testing

F. Reviews on requirements documentation

G. Defining test environment requirements for system testing

Correct Answer. ABD

QUESTION 3

What is the Risk Priority Number for risk item number 2? 2 credits
A. 16

B.2

C.1

D. 63
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Correct Answer: D

QUESTION 4

Which of the following is an example of testing as part of the requirements specification phase? 1 credit

A. A requirements review meeting

B. A business analyst eliciting requirements

C. Performing acceptance tests against requirements

D. A test report showing requirements coverage

Correct Answer: A

Scenario 3 "Tool Selection and Implementation”

Your company is considering whether or not to purchase a test tool suite from a respectable vendor. Your manager has
searched the internet for comparable products but none of them meets his specific requirements. A tool demonstration
has been arranged for next week and your team has been invited to attend. The tool suite consists of a test
management tool, test execution tool and a requirements management tool. There is the possibility of adding a

performance testing tool at a later stage. You have decided to attend the demo but raise some issues beforehand
regarding expectations.

QUESTION 5

Which of the following would be the most significant input to estimating the time to carry out the specified testing tasks?
3 credits

A. The skills and experience of developers to correct the failures.
B. The standards used for the requirements specification.

C. The metrics recorded from testing the capture-replay tool.

D. The number of testers in the company and their grade.

Correct Answer: C

QUESTION 6

In general, why is it NOT a good idea to estimate the testing effort based only on a percentage of development effort?
Identify THREE valid reasons. 1 credit

A. The quality of the development estimate may be poor.
B. In general bottom-up estimation is always better than top-down estimation.

C. The percentage based technique only applies to the V life cycle model.
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D. Using the same percentage every time does not address the level of risk of the application to be tested.

E. The maturity of the organization, e.g. the quality of the test basis, quality of development testing, configuration
management, availability of test tools, also influence the effort needed for testing.

F. It builds on large set of historical data

G. The result is almost always a too low estimate for the required test effort
Correct Answer: ADE

A. Quality of the specification

B. Availability of end-users

C. The costs of hardware and tools

D. Unknown input quality due to third party development

QUESTION 7

You have been asked to write a testing strategy for the company. Which statement best explains how risk can be
addressed within the testing strategy? 1 credit

A. A test strategy should address identified generic product risks and present a process for mitigating those risks in line
with the testing policy.

B. A test strategy identifies the specific product for a project risk and defines the approach for the test project.
C. Atest strategy is derived from the test policy and describes the way risk assessments are performed in projects.
D. A test strategy is the result of a project risk analysis and defines the approach and resources for testing.

Correct Answer: A

QUESTION 8

The introduction of reviews and inspections has often failed as a process improvement action. Identify the THREE most
important measures that should be taken to reduce the risk that this test process improvement will fail. 2 Credits (for 2
out of 3 correct 1 credit)

A. Process ownership and experienced moderators who drive the inspection process.

B. Management support

C. Training of those involved

D. The availability of stands and processes

E. Usage of a more traditional software development lifecycle

F. Alignment with software process improvement
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G. Using a reference model, e.g. TMMi

Correct Answer: ABC

QUESTION 9

The test improvement project will take place in an organization developing a safety-critical avionics application. Which
one of the following standards do you believe would be most appropriate to take into account for compliance during your
assignment? 1 credit

A.1SO 9126

B. IEEE 829

C. BS 7925/2

D. DO-178B

Correct Answer: D

QUESTION 10
Which of the following product risks would be most effectively addressed just by static testing? 3 credits

A. In the delivered application, one of the countries, as specified in the requirements, has not been correctly
implemented.

B. The application takes too long to process a request for additional cover.
C. The test cases do not cover the key requirements.
D. The successful bidder may not deliver all the required functionality on time.

Correct Answer: C

QUESTION 11

Select THREE issues from the options provided that should at least be raised. 1 credit
A. Has there been sufficient comparison of tools?

B. What are the problems we are trying to address?

C. Do we have a set of tool requirements to validate the tool against?

D. How will the implementation be organized?

E. Which project will be selected to perform the tool pilot?

F. Is customized training available?
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G. How will the change process be managed?

Correct Answer: ABC

QUESTION 12

As part of the improvement program, the organization is also looking at tool support. Which type of tool could be used to
ensure higher quality of the code to be reviewed? 1 credit

A. Review tool

B. Test execution tool
C. Static analysis tool
D. Test design tool

Correct Answer: C

QUESTION 13

Which one of the following estimation approaches is appropriate at this stage of the project? 2 credits
A. Create an estimate based on the function point analysis technique and test point analysis

B. Create an estimate based on the complexity of the code

C. Create an estimate based on the credentials of the successful bidder

D. Create an estimate based on a percentage of the development effort

Correct Answer: A

QUESTION 14

As part of the test strategy, entry and exit criteria will be defined for each test level. Which is NOT a valid reason for
using entry and exit criteria? 1 credit

A. The expectation is that development testing is not adequate.

B. Exit criteria are used to decide on when to stop testing.

C. Entry and exit criteria are a principal way for getting adequate resources.

D. Using entry and exit criteria will prevent software that is not or poorly tested from going to the next test level.

Correct Answer: C

QUESTION 15
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Which test management control option is most appropriate to adopt under these circumstances? 2 credits

A. Introduce mandatory evening and weekend working to retrieve the 3 week slippage.

B. Reconsider the exit criteria and review the test plan in the context of the current situation.

C. Advise the user community regarding the reduced scope of requirements and the additional incremental delivery.
D. Arrange a meeting with the user community representatives to discuss the user interface.

Correct Answer: B
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